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# | bib BEFH S 24 HMERFE| BE |mEuETE FHAE wh we
21|k = o 3 |LhRTERREESKR &5 13.066 12.766 11.533 12.766 50.131
22|81 = 2 |SLhRTERREESKR &5 12.433 11.933 11.900 12.433 48.699
23|F%K=E HA 1 [BARIEREZESKR &5 12.966 12.533 12.966 12.500 50.965
9 25(FAIER & & & 1 [BARIEREZESKR &5 11.633 11.900 11.366 11.133 46.032
F—LBR(EM3EED 38.465 37.232 36.399 37.699| 149.795
27|+HBW £k 2 | FEFESFER . 13.233 12.366 12.700 12.633 50.932
28|fAH X 3 |hRTFRREESKR &5 12.300 10.800 10.300 12.300 45.700
8l||aH FH 1 |BEXRESEER R 11.633 9.533 11.066 8.966 41.198
82| KHIR &= 1 |BEXRESEER R 12.366 9.866 10.333 11.433 43.998
83|Ak# Hih 1 [BEXESEER R 11.633 9.466 8.133 10.533 39.765
10 84|RF # 1 [BEXESEER £330 13.000 9.200 10.100 11.400 43.700
F—LBR(EM3EED 36.999 28.865 31.499 33.366 130.729
87|tk F& 2 | ZBRFESEFER R 11.866 10.566 9.566 11.200 43.198
88|EEH = 3 | ZBRFESEFER £33 12.500 10.766 10.800 11.400 45.466
351|EEF v &Y 3 |[WORMEFSFER| O 11.500 7.033 8.133 9.833 36.499
352|TF #ERk 2 |[WORNEHESEFER| A 9.366 3.666 7.400 8.066 28.498
353(KH ZEE 2 |[WORNEHESEFER| A 8.766 0.333 5.800 5.400 20.299
11 | 354|NEF (B 1 (WWABSEFESEEK| LA 9.333 5.033 7.233 6.600 28.199
F—LBR(EM3EED 30.199 15.732 22.766 24.499 93.196
357|1LR ER 3 |HEEEER A 11.666 8.233 11.500 11.566 42.965
358| kM F 1 (WWABSEFESEER| LA 9.033 5.233 6.166 4.833 25.265
401 |BEAR VA 3 |BHTESEER ERA 12.566 12.100 12.166 12.666 49.498
405( st BIGEE 1 |BEHTEESEFFER =EREA 9.600 6.266 9.933 10.066 35.865
403| AT B 2 |BEHTESEER =ERA 11.533 7.733 7.900 9.633 36.799
12 | 404|%& WA 1 |BEHTEESEFFER =EREA 11.800 3.333 10.433 11.066 36.632
F—-LBR(EM3EED 35.899 26.099 32.532 33.798| 128.328
407 |#2BR 383 2 |ERAEMESESSER| BFAA 11.733 8.166 9.633 11.066 40.598
408|HF &= 2 |[EEEiithMEEER| ERA 11.766 7.233 9.533 9.833 38.365
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